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2.1. MY HE o MEE
2.2. Ad7|7t: 20204 18 12€~2020'3 128 31

b M=
& o 71’8 of| 4 FEo 4t 54 | o a | 718y | FHEoa | 4
e ] b | |

(A) _ (B). (B-A) . (A) . (B) | (B-A)
A 513,932 513,932 - A 513,932 513,932 -
A=< 115,413 115,413 - Q1 74H| 335,626 330,653 24,973
otE = - - - YFFTH| 4,720 4,720 -
BExa+d 297,856 297,856 - 29H| 64,456 64,456 -
FE=TY 24,000 24,000 - AldH| 31,028 34,132 3,104
AeE - - -| Z2IOAIYH] 76,445 78,225 1,780
He= 20,000 20,000 | AEEXE d - ]
OlE& 53,746 53,746 - dEE - - -
=g 2,917 2,917 -| EXIE/0H[y| 1,657 1,746 89
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2.2. Z|AH of A=
(EHR-E 2))

ol L e 3|7 717404 ot 2o it s¢aY g4y 8

(A) (B) (C=B-A) (C/A)%
1 uts| A (A A2 503,725 503,725 - -
el A|o] A3 503,725 503,725 - -
2 S43A  |AoK ALY 5,003 5,003 - -
3 S22 |EESXAAY 1,702 1,702 - -
4 S43A |ZEEAXERY 3,502 3,502 - -
SH3IA 9 24 10,207 10,207 - -
A 513,932 513,932 - -
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3. 2|AI'E of &Y

3.1. [ Ut AHlJA] ALtEY

M M £

82 710 &t ™o | 54 a2 - 7|™o AdoM 54

(A) (B) (B-A) (A | (B) . (B-A)
A 503,725 503,725 - A 503,725 503,725 -
Al 115,413 115,413 - o1 Z4H| 335,626 330,653 ~4,973
A== - - -l EFFTy| 4,720 4,720| -
HxFZ4Q 292,656 292,656 - 2| 64,456 64,456 -
=Y 19,000 19,000 - A|-EH]| 31,028 34,132 3,104
xrel= - y -| ZEOALGH| 67,045 69,364 2,319|
Hea 20,000 20,000 -l AEEXE - - -
ojlgZ 53,746 53,746 - Mg d ] i
=4 2,910 2,910 -| EXIE/08|H| 850 400 A450
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2020 3x F7HA o &H(eh

 B|AITE - (YRS A MLty
o O b2 : 3R}EFH (THl M)
= g = 71 ofl2H(A) 0| 4KB) fa(B'A) ZHoo MEZIE (TR
= A 503,725 503,725 -
Ard=¢ 115,413 115413 -
Atgls=2 115413 115413 )
H| kA - 21 114,000 114,000 :
<HjotAE =2 114,000,000
-H| o 4= 9,500,000 12 = 114,000,000
s+ 413 413 -
SdEEs+Y 413,000
EEssY 413,0008 1 = 413,0008
olgEs¢ 1,000 1,000 1
O|224Y 1,000,000
-AtE| SAEE S| 100,000 10 N 1,000,000&
HEZ 49 292,656 292,656 -
HEIZ49 292,656 292,656 -
ANzEz=gsY 53,836 53,836 -
AlEHEFTY 53,836,0008
-2gH| 51,676,000 1 = 51,676,000
-BMREEE 2,160,0008 1 = 2,160,000
AzTEzEgsY 238,655 238,655 -
I REZTY 238,655,0008
-29gy| 235,415,000 1 = 2354150008
SMASEEE 3,240,000 1 = 3,240,0002
7IEtREF Y 165 165 -
J|EtRE=Z 4 164,5008
-HHEETY 164,500 1 = 164,5009
iz 19,000 19,000 -
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2020 3%} F=7HF FHoj&(eth)

« O MR 3KpE (SH: M)
b SZ(B-A)
# 4 = 7| 0§ 2HA) 230 AB) o oTE Mo MBI E (EHELEH)
=
Faagad 19,000 19,000 - -
ANEEdF 2,000 1,200 AB00|  A40.0%
K| FEHF 1,200,000
XHzdag 1,200,000 x 1 4 = 1,200,000
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o Of&bE . 3KIFEH e Rak))
SY(B-A)
o 8 2 I1olka) | ZHoLHB) YO LEIIE (TR
=9 H| &

HXEEF 17,000 17,800 800 47%

HIX|HEHZ 17,800,000

-HIXEEAS 17,800,000 14 = 17,800,000
Yz 20,000 20,000 - )
ez 20,000 20,000 - -
HolEga 4,000 5,000 1,000 25.0%

JHeldelg 5,000,000

-HolHelg 5,000,0008 1 3 = 5,000,000
HolFea(Eda) 16,000 15,000 A1,000 A6.3%

Holdol (AT 15,000,000

-HoINYS (=S 5,000,0008 3 3 = 15,000,000
oj 3= 53,746 53,746 - -
ojlga 53,746 53,746 - -
HHEZO|/S 43,480 43,480 - -

JHHES0|HZ 43,480,0009!

-Atgsg ol EE 42,960,000 14 = 42,960,0008

-AHEEH (R eHE RS 2) 0|28 520,0008! 14 = 520,000¢
HUZOlHAF(EAZ 10,266 10,266 L -

THER OB (EHED) 10,266,000

FUzo|EE(EAS 10,266,0002 14 = 10,266,000
E¢ 2,910 2,910 N -
&+ 2910 2,910 ] -
7|Etol 0| X&) 30 30 } -

0| 20| Xt 30,0008

-0 20| K= 30,0008 14 = 30,0008
7|EFE 2 2,880 2,880 - -

Z1EFE ¢ 2,880,0009

-Yx2| A 2 240,0008 12 48 = 2,880,0008
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20201 3x F7HAFEof|dHeh)

o S|HFE : (YUES| A A R
o OAFE 2K} (ctel: He)
@ 8 = AN | 2O - SEEE gEIE (BYE)
= &
B A 503,725 503,725 - -
ALRH] 404,802 399,829 24,973 A1.2%
kel 335,626 330,653 A4,973 A1.5%
=9 170,328 170,328 - N
I 2 F 170,328,000
Al g E 50,507,00081 x 1 4 = 50,507,000
-HAEBmAN 38,291,0008 x 1 4 = 38,291,000
-HYEHMAR 26,370,0008 x 1 4 = 26,370,0008
AR 227120008 x 1 4 = 22,712,000
- LD 2] A 324480008 x 1 4 = 32,448,0008
Adgng 62,300 62,300 - E
STEEOIZ|=F 62,300,0008
EFOI7|IRE 62300000 x 1 = 62,300,000
Mg 47,531 46,225 A1,306 A27%
SHEFIH| 16,995,0009
A HE 50510008 x 1 4 = 5,051,0008
A YE A mAN 3,783000& x 1 = 3,783,000
| AE AR 26160009 x 1 4 = 2,616,0008
-ALE Y 22780008 x 1 H N 2,278,0008
-l A QIO 2EE] 7| AL 32670008 x 1 4 = 3,267,0009
ItETY 4,440,0008
A A 2200008 x 12 7j¥ = 2,640,000
-E Y EHDAN 02 x 0 ¥ = 0¥
SAHEEMAR 02l x 0 ¥ = 08
Ared 60,0008 x 6 7Y = 360,000
- A GLTof pa| 7| Ab 120,0008 x 12 74 = 1,440,000
FAR S 4-C 5,400,000¢
-A| 4 90,0008 x 12 7H¥ = 1,080,000€
- BAN 90,0008 x 12 J4¥ = 1,080,000
S AZ AR 90,0008 x 12 7H¥ = 1,080,0009
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20204 3 FIEF ol A2t

2 3 8 NEoue | BHAME) = STty e MENE (29:)
AR 90,0008 x 12 ¥ = 1,080,0008
-l 2ha] 7| A 90,0008 x 12 7H¥ = 1,080,0008
<AjZhe| gt 19,390,000
A HE 59910008 x 1 4 = 5,991,000
-EYEADAN 44580008 x 1 d = 4,458,0008
SEgE AR 28370008 x 1 = 2,837,0009
ARl 25140008 x 1 4 = 2,514,000
- AT O) 2] 7| AL 3,590,0008 x 1 4 = 3,590,000
ElFg A EXHEYF 22,840 21,140 A1,700 AT4%
E|XHAUZ 21,140,000
-AAE 53140008 x 1 = 5,314,0008
-HYEH AN 40470008 x 1 d = 4,047,000
KA AMAR 25700008 x 1 4 = 2,570,000¢
AR 8390008 x 1 H = 839,000
- Arglukog ar2] 7| At 3,391,0008 x 1 H = 3,391,0009
-2EXIEEF 49790008 x 1 4 = 4,979,000
N ER =T 28,222 26,255 1,967 A7.0%
SUEHE 9,510,000
Mg 23590008 x 1 4 = 2,359,0009
SEEdHmAN 1,731,008 x 1 4 = 1,731,0008
-EYSAHIMAR 957,0008 x 1 = 957,000
AR 9220008 x 1 4 = 922,000
ATl 2E] 7] AL 1,531,0008 x 1 4 = 1,531,0008
22X 20100008 x 1 H = 2,010,000
oAz 11,351,0009
SAlEE 26190008 x 1 d = 2,619,0008)
K YEH AN 1,8960008 x 1 W = 1,896,0008
S AEHWAR 1,178,0008 x 1 4 = 1,178,000
AR 1,248,0008l x 1 4 = 1,248,000
Sy Arimof pa| 7| Ab 1,729,0008l x 1 & = 1,729,000¢
-22% 26810008 x 1 4 = 2,681,0008
LOEEY 2,198,000%
A EE 08 x 1 4 = 0¥
-HYEHMAN 4930008 x 1 4 = 493,0008
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20201 3&} R71EFHo 2K

SHA(EB-A) o
L3 il 7|10l 4kA) 2o 4kB) =q g 4HE|E (T
A AZEHMAR 2840008 x 1 4 = 284,000¢
-AR R 2770008 x 1 4 = 277,000
- At SO 2] 7| AL 4360008 x 1 d = 436,000
22X 7080008 x 1 H = 708,000
A EH 3,196,000
A 08 x 1 d = 0¥l
- Y EHUDAN 7080008 x 1 4 N 708,000
El A ER AR 4280008 x 1 W = 428,0009
AR 4100009 x 1 4 = 410,0008
g AtglEo e 2| A 6250008 x 1 4 = 625,0002
22 1,0250008 x 1 H = 1,025,0008
7|Et= 4 Ah| 4,405 4,405 -
EAXH 4,405,000
-BEMKH 500008 x 5 9 = 250,0002
-ZE2FE 0 YEXY 1000008 x 20 H(10H*23) = 2,000,000
Az 7000008 x 1 4 = 700,000¢
- B A7 17,0008 x 15 9 = 255,0008
-BARL A o8 258 480008 x 25 @ = 1,200,0008
HFET| 4,720 4,720 -
7| 22| 600 600 -
JjE2gH| 600,000
-7 B2 g 50,0008 x 12 ¥ = 600,0008
Bl 5 5 H| 3,600 3,600 -
oE| B 15 | 3,600,000
-2 300,0008 x 12 ¥ = 3,600,000
3| oH| 520 520 -
-2]olH| 520,000
-DZYZHES|_TIEH| 30008 x 40 Yo+ = 120,0008
-2 Az o] 200,0008 x 2 &7 = 400,000
2| 64,456 64,456 i
ofHy 1,800 1,800 ]
«OfH| 1,800,000
18 U FoH| 1500008 x 12 & = 1,800,0008
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20204 3%t F71FHojl&kH(e)

e @ NP | BHME) = ihi e MEYIE (R91H)

FEH| U 20,996 20,996 -
S 8H|UFSR 20,996,0002
AR EEUARETAU| 2000008 x 12 ¥ = 2,400,0008
-ZH| 29| 1300008 x 12 € = 1,560,000
-7|E}HHI 2500008 x 12 ¥ =) 3,000,000
] 4000008 x 12 ¥ = 4,800,000
HAEEFY 200,0008 x 4 7| = 800,000
-HESEH| 6000008 x 1 4 = 600,000
e L] 4995008 x 1 = 499,5008
-QIMH|(BRE, #4:0f 5) 55000008 x 1 4 = 5,500,000
-Zm| o] X|_#a| 3 AlH| 1,0000008 x 1 H = 1,000,000
-ZE=7| B2 2rf) 56,0008 x 12 ¥ = 672,000
HAEETY 1645008 x 1 $ = 164,500

2202 19,440 19,440 -
32328 19,440,000
-Hrlad 1,300,0008 x 12 & = 15,600,000
-OIE Y 9 Hslad 1400008 x 12 & = 1,680,000
L e =1 150,000 x 12 & = 1,800,000
-2EHz 4l 7lEt 3327 30,0008 x 12 & N 360,000

HAM 3tz 8,520 8,520 -
B P = 8,520,0009
-SRI A R =R B | 80,0008 x 12 ¥ = 960,000
-HEEo ol A 3 | 70,0008 x 12 ® = 840,0009
REARER 4500,0008 x 1 H(3Ch = 4,500,0008
-KHSAEA| 570,00080 x 1 W(3CH) = 570,0008
-MEES7HYH| 250008 x 6 9 = 150,0008
-Hl M2 E 2 (BHA, MaE)Q 1,500,0008 x 1 A = 1,500,0008

AHEH| 12,200 12,200 -
S8/ 12,200,0009
-8 8H| 700,0008 x 12 2@3Ch) = 8,400,0008
-FuH@H Y &) 2,600,0008 x 1 H@3LH = 2,600,0008
- M x| 1,200,0008 x 1 (3L = 1,200,000

7|EF G| 1,500 1,500 i
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SdY(B-A)

2 3 g AYodE) | FANE) . e

HE7IE (TR

-EQuEY & 100,0008 x 15 9 1,500,000 8
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2020t 3&t F71AF o &Ko)

® 3 8 NEode | FHANE) SENEA HEIE (B2E)
= H| &
T+t Z=HH| 31,028 34,132 3,104 10.0%
Al | 31,028 34,132 3,104 10.0%
Aj4dH| 16,800 17,983 1,183 7.0%
«A|dH| 17,983,000
Ald gmEd s 17,983,0008 x 1 4 = 17,983,0008
RpobFESH| 8,708 10,629 1,921 221%
KPS| 10,629,000¢
-HEBH LEE S 10,629,0008 x 1 = 10,629,000
MAZH|FR b 5,520 5,520 - .
<Al EH|FX|H] 5,520,000
g e 160,0008 x 12 ¥ = 1,920,000
-7|ERA EFH X U2 3000008 x 12 € E 3,600,0008
AriH| 67,045 69,364 2,319 3.5%
D2 A Y| 67,045 69,364 2,319 3.5%
| A AL | 65,367 67,496 2,129 3.3%
A UMW 808,000
-EANE T EnY 50008 x 40 i = 200,0008
-Eoug 9 ZHES| AlALH| 80008 x 32 B(16Y+23) = 256,000
-Ho@mg Ol 7S] ZHAH| 30008 x 64 H16Y*43) = 192,000
-ES A0S U7HE S| HIEH | 10,0008 x 16 ¥ = 160,000
JHEZ 2 ALY = 2,381,0008
AN EH AUEET U 50,0008 x 4 3 = 200,000¥
HoMesd gi|Es METLY 700008 x 4 = 280,0009
SRS EH T AT | 191,0008 x 1 & = 191,0008
-2XsldE_ZAHH| 100,0008 x 1 3% = 100,000
2R AEE_a A YY| 50,0008 x 4 3 = 200,000
AR sEHAEA WX UY| 150008 x 30 Y(10Y*33d]) = 450,0008
AR sEEEH_ S5 YU| 500,0008 x 1 & = 500,000
XA AHAEEZH_AHE| 150008 x 20 H(10Y+23|) = 300,000
K|ALS] AHRIERE 2 AlALH] 8,000% x 20 F(oHx3) = 160,000
FAX| ALY 100,000
AT HEEE 10,0008 x 3| = 40,0008
- M | HEEF 10,0008 x 6 3 = 60,0008
RS T2 ALY 2,207,0009
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20204 3x} 2t Hof A2

?_* 8 & 1Mo 2kA) ZHOLHEB) = S MBI E (TH:H)
= H|8

I_;I) sdgzd NsRsEETY 50,0008 x 2 3 = 100,000

f”gggﬁ_ﬂoﬂ%ég% g 50,0008 x 3 % = 150,000

;T}glagga_nqx}gwgo]g 80008 x 48 H(12Y*43)) = 384,0009

-Eojgs s=ogue 4130008 x 1 4 = 413,0008

-3 0O|5lof7tgs g 80008 x 120 H(12H*103| = 960,000

F|| 2pH ALY 62,000,000

TR YU o)) 3,300,0008 x 12 ¥ = 39,600,0008

-EEAAE Y pd|EA §) 14,0000008 x 1 4 = 14,000,0008

-7IEIE2E 7Yu) 600,000% x 12 ¥ = 7,200,000

-K7HEE A 600,0008 x 2 3 N 1,200,0008
TALHRAFRIH] 1,123 1,123 - -

«EAH ALY 243,0008

-A7|-2GE7_Hd| 30008 x 20 H(EE4I) = 60,0008

=] 1830008 x 1 & = 183,0008

RS 880,000%

-HU RS K EEFH|(Z A 2)) 880,000 x 1 d = 880,000&
X SA AL 555 745 190 34.2%

<X A A AL ] 745,0008

RS AR _Z A A S 1,5002 x 30 9 = 45,0009

RS A EE_nS8H| 15008 x 0 9 = ogl

- HAMALS 35008 x 200 O = 700,0009
Xz 50 50 - -
s 50 50 - -
PIPNES 50 50 - -

& 50,0009

&R E 500008 x 1 4 = 50,0008
ojjH[E] & Z|E} 800 350 A450 A56.3%
ojulH| 9 7|E} 800 350 A450 A56.3%
o 5|4 300 300 - -

«Ojje[B] 300,0009

-OfjufH] 3000008 x 1 4 = 300,000
greta 500 50 2450 A90.0%
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2020 3%} F7HZF ol Ak(eh)

BUUE-A) .

o 2 71FolMa) | FHONE) = == MEI|E (CH:H)
Rk g 50,0009

-drelg 500008 x 1 H = 50,0008
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2020 3AF F7EHoAHSH

3. 2|A|'E ofj ALY
3.2. [SEH9A|] |0 X|ZAIY

(EHl: M)
Ml 1 M &
a= 71%dof| &4 2ol M g8 a= 7170l 4t 2ot x|
(A) (B) (B-A) (A) (B) (B-A)

A 5,003 5,003 - A 5,003 5,003 -
Agi¢ - - - QI H| - - -
5 L] - - || YR - - -
LES= o - - - 2gH| - - -
sdE+Y 5,000 5,000 - INESL] - - -
Aee - - -| ZE2OAIH] 5,000 5,000 -
Y= - - -| WEEXE - - -
olga - - - o83 - - -
g 3 3 -| EXIE/0H|H| 3 3 -
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20209 3&F 74 Hof A2

M| 2l o] A
- 34| E . (SEIA) AR =AY
o OfjFLE : 3R (Er2]: X 2l)
# | w LI Al bl Bk LR BN MBTIE (RHl:2)
= | 5,003 5,003 -
EEERYY 5000 5000 -
EEEPYY 5000 5000 -
XNgzda+Y 5,000 5,000 -
X¥Eziasd 5,000,000
ggq%gxlxm M2 50000002 x 11 = 5000000
z+ 3 3 -
g+ 3 :
7|EtO]| = O| Rf= 3 3 ]
7| 0| 20| X&) 3,000
-0 20| X} 30008 x 19 = 30008
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20203 3At F7rE Ao 2Heh

M= ofl o
- S|ATE : (SESA)A0IX| 2 ALY
- O AT : 3K (Etel:

£
rjg

a 3 2 | 71™olaka) | 2HoME) gim""g’% O HEIE (T91:2)

= A 5,003 5,003 - -
Argi| 5,000 5,000 - -
AL 5,000 5,000 - :
Ar ] 5,000 5,000 - -

- A 5,000,000

-SI0jK| = AFlH] 50000008 x 1 = 50000008
olelel & Z|E} 3 3 = =
ofbjb] S 7[Et 3 3 - -
ghets 3 3 - -

) 3,0009!

Hrga 30008 x 1H = 3,000
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2020 3xF FItFFol|aH(eh)

3. 2|AI'"E of ALHS
3.2. [SES A2 S X RAY

(chel: M)
M o M £
o= 710 &t ZdEou 4 as 7|10 &t Zdo i s
(A) (B) (B-A) (A) (B) (B-A)

A 1,702 1,702 - A 1,702 1,702 -
A= - - - Q1 Z1H| - - -
A=Y - - -| YR - - -
BExg4+Y 1,700 1,700 - 23H| - - -
sHFTY - - - Al H]| - - -

= - - -| ZEOHAIYY] 1,700 1,700 -
Mg - - -l AEEXE - - -
o=z - - - detg - - -
=g 2 2 -| EXIE/0d]H| 2 2 -
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2020 3&t F7AE Holl AHeh

M i of &F
« BAFE : =E§MI)-§I%EII%W
o O AFLE : 3R} (chel: %2l
2t 5 = 717 0f| &k | Zof| Ak 7:.9!!(3 -A) O ST X (EH2):2)
(A) (B) o H| &
= A 1,702 1,702 - -
HEZ 4¢ 1,700 1,700 - -
BExgs¢ 1,700 1,700 - -
7|EtEx=g+Y 1,700 1,700 4 i
HOIAEX| MY BEF 1,700,000
ROJQIE X B BED 1,700,0008 x 1 & = 1,700,0008
Chas 2 2 - -
ey i ]
7|EtO) 2 O| Rt 2 2 - ]
7| EHOf| 5 O| K= 2,000
-0 = 0| Xt+¢ 2,0008 x 14 = 2,000
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2020 3&F F=71@ ™ of| Ak

MIE o4t
« AT E : (BEHIA)ZSE S K AALY
- Ol&hE - 3XFE (EH9: X 8)
Bl | = Ao | gnoiue | SEIEA AWM MEIIE (2H2L:)
3 A 1,702 1,702 - .
AL gt 1,700 1,700 - -
AL ] 1,700 1,700 - .
AL 1,700 1,700 - -
<AFYH| 1,700,000
-= 2 S A AL 1,700,0008 x 1 A = 1,700,000¢
OfHlH| W 7|E} 2 2 - -
ofjjH| % 7|E} 2 2 - -
tetg 2 2 - -
s 2,000
-giets 2,0008 x 1 H = 2,000
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3. 2|A|E o ALY
3.2. [E4ZIA] HEHOQ =2 Y

M o Ml g

s= 71°dojj &t Zgo] 4t s a= 717 ofl At ZdEou 348

(A) (B) (B-A) (A) (B) (B-A)
A 3,502 3,502 - AH 3,502 3,502 -
At 4¢ - - - o174 H| - - -
A= 4¢] - - | gm=zy| J I ]
Bxg+Y 3,500 3,500 - 23| - - -
N = Ry - - - Al &dH] - - -
A= - - -| TRIO-EAIYH| 2,700 2,161 A539
M= - - -| AEXE - - -
-y - - - detg - - -
=g 2 2 -| ®X|E/0f[H| 802 1,341 539

ot b EESI| M ALY /25
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M| off £t
« AHFE  (SEIAYLSEOIQA Xp=BAALY
- Ol &k - 3XHEP (EF: &)
@ 8 X ZIRIPYEE b RO ) AN HEIIE (HS:2)
(A) (B) Ch H| &
3 AH 3,502 3,502 - -
Bxa ¢ 3,500 3,500 - -
HExgF¢ 3,500 3,500 - -
J|EtE =g+ Y 3,500 3,500 - -
JIEEZ=2 49 3,500,000
J|EtRES 3,500,0008 x 19 = 3,500,000
T 2 - -
el - -
7|EtOl O Rt ¢ 2 2 - -
«7| E}O| 2 O] X} 2,0008
-0f| F 0l xt=¢ 2,000 x 14 = 2,000

=5HA MLtLtel /26
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MIEofl it
- HATE : (SYUA) LI HE2ANY
- AR : 3R (ctel: &)

Bl g | s |mowe | FEase ST HCA WO MEIIE (291:E)
=2

5 A 3,502 3,502 - -
At 2,700 2161 A539] A20.0%
Ar ] 2,700 2,161  A539] A20.0%
R=L] 2,700 2161 A539] A20.0%

At 2,161,000

A= Y AL H| 2,161,0008 x 1 & = 2,161,0008
Ofufd] & 7|Ef 802 1,341 539 67.2%
oflu|H] R 2|E} 802 1,341 539 67.2%
Hhste 802 1,341 539 67.2%

MiEs 1,341,0008

-dhetg 1,341,0008 x 14 = 1,341,0008

ot 2k EESIAH M AR /27
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4. At = AHEAI= (2

ARSI it Pl uj3
g5 =9 EIa ) =Y
AT 14,340,000
ElXa % EXHEE 4,979,000 TEZO04QI QI
A2l E R HEHH[E 2,884,000
7|Et= 4 EH| 3,205,000
7|22 gH| 600,000
XM 5 7 H 3,600,000
3| o|H| 520,000
R [ 22! 114,000,000 +8Hl % & 6,129,900 =3
AR 33823 3,776,820
HAMSa= 2,000,000
L] 2,452,620
7| E-2 2| 1,335,000
A|-dH] 6,312,000 Ald 22@E S
Xt SH 7,736,700 HE 78 &
A EEH|F X H| 182,000 AlEEH[FX A &2
A AT F A | 53046960 o o T
MEE A=Y OlEa 42,960,000 A28 42,960,000 =EZ0jQI eIH|
Y | 156,960,000 | 156,960,000
A 156,960,000 156,960,000

oto D EESIH A AL /28





